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N U Y H T R F V E I F I F

T F G T H I R T Y F I V E

S X I W I S I T R S F Y I

F I Y E I E H V T I T G T

I F X N T V E V E X Y Y F

F O R T Y E I G H T F F T

T R Y Y Y N W R R Y O T T

Y T O F I T O I U F U O W

S Y X I N Y H H O O R O S

I T X V I T W R W U I E I

X W T E Y W T Y E R F T I

F O F T O O R R F E U U T

T H I R T Y T W O I O F R

6 × (7 + 1)  =

38 − (4 × 2)  =

27 × 6 ÷ 3  =

63 ÷ (1 + 0)   =

70 − 3 × 2  =

80 − 8 ÷ 1  =

5 × (2 + 3)  =

42 − 5 × 2  =

50 − 4 × 2  =

9 × (9 − 3)  =

7 × 10 ÷ 2  =
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486 × (7 + 1)  =

3038 − (4 × 2)  =

5427 × 6 ÷ 3  =

6363 ÷ (1 + 0)   =

6470 − 3 × 2  =

7280 − 8 ÷ 1  =

255 × (2 + 3)  =

3242 − 5 × 2  =

4250 − 4 × 2  =

9 × (9 − 3)  =

35

56

7 × 10 ÷ 2  =

N U Y H T R F V E I F I F

T F G T H I R T Y F I V E

S X I W I S I T R S F Y I

F I Y E I E H V T I T G T

I F X N T V E V E X Y Y F

F O R T Y E I G H T F F T

T R Y Y Y N W R R Y O T T

Y T O F I T O I U F U O W

S Y X I N Y H H O O R O S

I T X V I T W R W U I E I

X W T E Y W T Y E R F T I

F O F T O O R R F E U U T

T H I R T Y T W O I O F R


